


PMT &) 45 M R 2 A

L 1> PMTLAEE
O

OFT=

AR



PMT &) 45 M R 2 A

AR



PMT I/ /R %2

L Tla.Tu

| || I | || II II
—] 1| It H J H J

& Fl FH SH S R RN SR

& PR TR, A BE AR 2B R 4 o A

OPMTHIREE Z R — Bt EBFEARRIN, TZATH
gt &

R IR SIS



PMT I/ /R %2

L + 900V dc: oo\
2 A T I i AR

EINEEEEL T
= i i 1%
—
1> %ﬂiitlj%ﬂéﬁ
PMT Hi i 4]

B HEEER: ERENAREE
PR DA : BT B s R R

R IR SIS



PMT I/ /R %2

50F
K,CsS, (REHRF)

Na,KSb (F8#{ BRI ST)

O BT HE

& B R
& IR R 1
& B EL ot
& BT e \ /AN

(nm)

KNa,Sb (Cs) (5-20) (&Iﬁiﬁlﬁ)

HFHE (%)

BiAgOCs (S-10)
7~ (BBAFE)

ALOCs(5-1) (ERAE)

ANFEEHE T RR

R IR SIS



ik 28

| C LU L e
e |
5
YRE T A ) 45 14 1]

R IR SIS



PMT &) 45 M R 2 A

L 1> PMTLAEE
Oxzrz:

OFT=

AR



_._A

Equation y=a+b* —— Linear Fit of A
Adj. R-Square 1
Value Standard Error
A Intercept -0.02616 0.00169
A Slope 0.0021 3.17519E-6
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Equation y=a+b*x"c —u—B
1000 - Adi- R-Square 0.99997 —— Allometric2 Fit of E
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Equation y=a+b*
- | Adj. R-Square 0.99989
Value Standard Error

A Intercept -0.41229 0.00806 .
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